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L ;v In file cs61allectures/3.1/count1.scm

_Gl) ZTK —)

(define counter 0)

(define (count)
(set! counter (+ counter 1))
counter)

> (count)

1

> (count)

2
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;205 In file
cs6la/lectures/3.1/count.lose

(define (count)

(let ((counter 0))
> (count)
(set! counter (+ counter 1))
1
counter))
> (count)
1

> (count)






;3735 In file cs6la/lectures/3.1/count2.scm
(define count
(let ((result 0))
—_— (Llambda ()
(set! result (+ result 1))
result)))
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°°°°° In file cs6la/lectures/3.1/count3.scm

(define (make=count) > (define dracula (make=count))
(let ((result 0)) > (dracula)
(ILambda () 1
(set! result (+ result 1)) > (dracula)
result))) 2






